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Let probability of tail is %

= Probability of getting head = %

.". Probability of getting 2 tails and 1 head
= (i x3xg)xs
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m = 0 (No point at which function is not continuous)

— 1 (Not differentiable)
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After giving 2 apples to each child 15 apples left now 15 apples can be distributed in
1543-1C, = 17C, ways

17=16
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flz) = [ It e td

- 3

2
g(z) = [ tie dt
0

f@)=2[(t-©)erdt
0

0

0

= dt]

g(I)*f*fEt‘“ Vi=y= g =W

gz) =2 eV dy
0

f(z) +9(z) =2 (1-_;)

= } __E_Iﬂ

(f( ugcg +g

=0 x =8

[ et
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\

0g.9)) =9"(1"%)
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dT
a — k(T —80)

T e t
J Efu Tos0) = Df-}(dt
In|T — 80[]T,, = —kt
In|T — 80| — In80 = —kt
o] g% = ket
T = 80 + 80e **
120 = 80 + 80e k15

40 i
— e k15 _ 1

0 —

b

. T(45) = 80 + 80 *4°
= 80 + 80(&‘“5)3
=80 +80 x 3

= 90



5Cm + 2 (®Cmt1) + %Cny2 > 8C3
"Cm1+ "Cry2 > 8C3

8Ciayg %0y

c.m =2

And™ iR :*P =1:8

(n—1)(n—2)(n-3) 1

n(n—1)(n—2)(n—3) 8

.n=2_8

an.;.l -+ n+lcm —-— 8PS = 3 902

:8)(7)(6+%“§
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— a+bi 68444448460 55

a4 b+ 220 = 55 x 6 = 330

a+b=110

variance =¥-[E)’=194

o 74 (68)7 4 (44)° + (48)% 4 (60)° (55)% = 194
6

a? + b? + 4624 + 1936 + 2304 + 3600 = 6 x (3205 + 194)

a? + b* = 6850
Now (a + )2 = (110)?

a® + & + 2ab = 12100
6850 + 2ab = 12100

2ab = 12100 — 6850
2ab = 5250

ab = 2625

— (110 —b)b — 2625 (. a=110-10)
b2 — 110b + 2625 =0
b=3575

buta > b

a+b=110

Sob=35anda=T75

Now
=a-+ 3b
= 75 + 3(35)
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f(x) = ex’—3x+1

F(x) = &34 (352 _3)
= &3 3 (x < 1)(x 41
Forf'(x) >0

.~ £(x) is increasing Function.
Sa=e% =0=f(-00)

b= e_-—1+3+1 o E3 — f(‘—].)

P(2b+4,a+2)
o P (2% +4,2)
P
d
x+e'y=4
[Tas B e
|



Zy + T2 = 5

z3 + =3 = 20 + 154

|;: + z3| =7

423 = (0t z9)® — 3z1z2 (2 + z3)
23 + 23 = 125 — 165122

20 + 16 — 120 ~ 1Hz122

zy29 = 71 ]

NOow

c2

2
(=1 + z2) = D

2 4 22522=25

Hi
-
e
Y]

:?+:§:25—‘2(?—-i}
— 11 + 21

22+ 23) =1+ 2i)?

—

iy = 117 + 44
:f-+ z; + 2(7 — 1) 1

z‘:+z‘::21+72i




(1.6, 2.8)

(o B)
—>
(2, 3) Focur

axis

Slope of axis = 3
y-3=3(x-2)
=>2y-6=x-2
=2y—x—4=0
x+y—6=0

4x +2y —12=0
atle=4=a=24
ﬁ+2.8=ﬁ:¢-ﬁ=3.2

Ellipse passes through (2-4,3.2)

(&)

328

25

putin (1) = b =




P{IZJ.S‘:

(Lmn)=(2,3.4)
>
xol_y=2_2-3
2 3 4
v
Q(a.p.Y)

Direction Ratios of PQ

3’215—3()'*5

pQ L line
2(&—2)+3(ﬁ-3)+(1—5)4:0




Take 8s'u.'n::: == t(t > ﬂ)

_ 2 _
=% tF2

£2-2
t r— 2

=
=2 -2t—-2=0
= t2-2t+1=3
= (t—1)*=3
t=1++/3
5 t=1x173

— t=2.730r — 0.73 (rejected as t > 0)

_s f0X = 2.73

_ log, &"* = log, 2.73

= sinX = 1Ug13273 g |

So no solution.



(y —2) = m(z — 8)
= X-intercept

> (249

=> y-intercept

= (—8 m + 2)

:>0A+0B=:§+8~8m+2

/ _2____. :0
f'(m) =5 —8
=>m2=%

-1
— M = 5

ﬁf(:il)*:lB



A(a,b), B(3,4),C(—6,-8)
2:1

C A B

-6,-8) (ab) 39

—a=0,b=0=P(3,5)
Distance from P measured alongx —2y — 1 = 0

g =3+rcosty= 5 + rsin@
Where tan 8 = %

r(2cosf + 3sinf) = —







B(l6,-2.4)

a=12a+4

b=4ax—06

c=6a—2

Distance PA = 21
vf(12ct+4-*4jﬁl-(4ct—ﬁ+—6?+{ﬁn-—2+_2'5!=21

14402 + 16a” + 16> = 441

196a” = 441
441
o = 1%

b=4X ;-ﬁ#ﬂ
csﬁx%‘g#]’



adj(adi(adi . ())) = 41"
N — — S
2024 times

= |A

_ 92"

92024 _ (22) 52022 _ 4(8)674 = 4(9 — 1)674
_s, 92024 = 4( mod 9)

_y, 92024 = 9 m +4, m < even

omtt — 16 (25) " = 16(mod 9)

—
—
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(nﬂ+b=)m3—-2b{a+c)m+bz+c’=ﬂ

(n.:-:-—b)3+(bx—-c)‘2=u

[:] .
o = :,:1: = 'E
rows
oY
c o
(k1 ™ s P_H__:c,.;{-..t-h}
bz =

bﬂﬁar.::-r:%
|a__.=|..:b-::a.+c

pln

‘14§|{§{1+% -
=

h_s|ex<i+g ==3F

11_,‘2'{1{1—5—:@




(+ 3" + (@ +3)" 2z + 2)+
(z+ 3"z + A S +(z +2)"1

Yo, =4 A x 34T x P gl

S SER OO
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— 41'1——1 X

3
-3

—

_._411_,3?1:__!311_4,1,11

ﬁ‘:4,’}’-'=3

ﬁ2+72:16+9:25
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(@+ B) x & = 2(@ x b) + 24] — 6k

(53 + j + 4k) x & = 2(7i — 7] — Tk) + 247 — 6k

i 7k ) ) ﬁ

5 1 4|=14i+ 105 — 20k

T Yy =
=>i(z~4y)-3(5z—4x)+11(5y-x):14"i+103—znk
z—4y=14,4&:—53——-1{1,59—3:——-*2{1
(a—b-i—i)-i:‘::~3

(2i +3j —2k)-€=-3

ox + 3y — 2z = —3

> g By =—8B=4"




\\ _

o2 SiI F COS T d'Il
0 sin®z+cos'z

20 /2 _
% 0 Tmtmreoms (@ — (7 —2)?) daf

120 p7/2 sinz-cosz 2
= Jo m‘zwm(zﬂz—w )d:n‘

sin? z+4cos = sin! r+cos' x

120 [2“—‘[{}“{2 z sin x-cos = dx — w2 J‘ﬂ“’ﬁ Sinr-cosx d:::“

w/2 sinz-cosx dz

20 w*/? pmw/2 ginz.coszx e ] \
= [21:‘ 2% 4 Jo i’ ::+nuu4da: fu sin* z+cos' =
20

2 [ 77 emene_da|

F
120 [ _ﬂ? w/2 sin rwcosT d:c] \
=S | 2 Jo 1—2sin? zecosir

- | P |
120 | = /2 3T F g,
- 2 0 1-—-%&11’22

120 [ —n* m/2 _sin2z dz]l
= |72 Jo 2-sin’2z

—x? pw/2 _sin2x ”
120 | =7
'—‘[ 2 J;J T+cos? 2x

take cos 2X =
- —ddt
-1 2
120 | —n*
= | 2 fl 1+¢7
ldte
20 -n"
—1;,- f—l 1+t"‘:|




B—86=1 ....(2)

Also, (y,d) lieson 3x — 2y = 6
3y—26=6 ....(3)

and (a, B) lieson 2z —y =15
—~ 9% —B=5 ....(4)
solving (1), (2), 3), (4)

i= -3, B=—147= —6.0=—12
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sec?xE 4 eWtan?x + tanx = 0

dy

dx

(Put tanx =t = sec?xE = —

dy

dt
dy



A=1{123...100}
R=a2x=3y=>y=

R={(, 2), (6, 4), (9, 6)... (99, 66)}
n(R) =33
RCR;

Now

R, = {(3,2), (6,4),(9,6)... (99, 66),
(2:3),(4,6),(6,9). .(66,99)}

e

o Iy ——

\ = minimum number of elements in R1 66

~ 1
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